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Input file: standard input
Output file: standard output
Time limit: 1 second

Memory limit: 256 megabytes
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FlanP 2K i: “This an problem easy is.”
{EAh ESRARYE: “This is an easy problem.”
PlAHK WOEE, 15 /R BB Ml AE |

/ML EARHABRE
Input

*ﬁﬁ~Aﬁ$Tu<T<uﬁ REFEFETEE T 17

RIBBITHE S TP HRIEER, 810 8RAE B/ NEFE a

0~9o

ERERNE: STEEREHERR—MRAArS
BT RN T

BIEERKE 1 < len < 30,
¥ o

Output

B T 11, Bt PR EIRREAIE!

BTHE B R G R AR IBE ST !

1000 -

Example

standard input standard output
2 This is an easy problem.
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